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. (r) = o, r=a,
) PR = 0, r#a.
7 4 = v 7 (Dirac) @ §(7 )V 7)) B
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o0, T=a,
@) 5(:1:—@)—{ 0, z+#a.
(3) d(x) =0(—x).
(4) / O(x—a)dr=1.

(5) /OO 6(x—a)f(x)de = f(a). (flda Tt T5)
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0, r < —%
(6) op(z) =19 n, —5 <x<s5,
0, T > %
O(x) = lim,, o 0p(x) &7 5. FEEF,
(7) lim on(x) f(x)dr = lim " nf(x)dx
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(8) °(r—a)=6(x —ay)d(y —a,)d(z —a.).
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9) p(r) =q6*(r —a),
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(10) p(r,t) = qgd*(r — x(t)).
B L,
(11) i(r,t) = qe(t)0°(r —x(t), =(t)= %w(t) .
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) Vi) + o p(r)

= qx(t) -V, 8 (r —z(t)) + Q%(SB("‘ — x(t))

= —qa(t) V. 8 (r —a(t) + qi(t) - V, 83 (r — z(t)) =0,
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(13) mi—s

zi(t) = qi [E(xi(t), 1) + &i(t) x B(x(t),1)]

(14) V- -D(r,t) Zq@(S?’r—wz :

(15) V-B(r,t) =0,

(16) VXH( aDr t Z%mz 53 ’I"—CUZ( ))7
(17) V x E(r,t) + aB(r’t) =0.
ot
EARE7E R T N ~ O(10%).
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